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1. Date of Temple Entry Proclamation issued by Sree Chithira Thirunal is,
(A) October 12, 1936 (B) November 12, 1936
(C) August 12, 1936 (D) December 12, 1936

2.  Who started the Newspaper “Kerala Kaumudi” to represent the marginalised Ezhava
masses in the public sphere of Kerala :

(A) T.K.Madhavan (B) C. Krishnan
(C) Kesari A. Balakrishna Pillai (D) C.V. Kunjuraman

3. Among the following statements which is not true regarding the aftermath of the Revolt
of 18577

(A) Governor General of India came to be known as Viceroy of India
(B) It marked the end of East India Company’s rule
(C) The Charter of the Company was renewed for twenty years

(D) The office of the Secretary of State for India was created

4.  Which among the following was not included among the principles of India’s Foreign

Policy?
(A) Non-alignment
(B) Peaceful co-existence
(C) Promotion of international peace

(D) Policy of interference and settling in other country’s internal affairs

5.  Which of the following statements regarding the impact of the French Revolution was

wrong?
(A) End of autocratic rule of Bourbon Kings
(B) Laittle improvement in the condition of middle class
(C) Decline in the supremacy of the Church
(D) Declaration of Human Rights

6. The proposed deep-sea port ‘Vadhavan’ is located in which State?
(A) Maharashtra (B) Andhra Pradesh
(C) Gujarat (D) Karnataka
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7. The transition zone that separates the mantle-core boundary of the earth :
(A) Moho Discontinuity (B) Lehmann Discontinuity
(C) Conrad Discontinuity (D) Guttenberg Discontinuity
8. The most common instrument used to measure the relative humidity of a region :
(A) Ceilometer (B) Hygrometer
(C) Barometer (D) Hydrometer

9.  Which among the following statements are true regarding ‘Kurasio Current’?
(1) A cold sub arctic ocean current flowing through the east coast of Japan.
(i1) A warm ocean current flowing through the east coast of Japan.
(1) It is also known as Black Current.
(av) Itis a branch of West Wind Drift of Southern Hemisphere in South Atlantic Ocean.
(A) (i1) and (iii) only (B) (@) and (iv) only
(C) (i) and (iv) only (D) (@) and (i1) only

10. The type of data that describes the characteristics of a geographical feature in GIS.
(A) Raster Data (B) Spatial Data
(C) Non Spatial Data (D) Vector Data

11. Identify the plain in Northern India that extends between Satluj River Basin in

north-west to Yamuna Basin in the South-East.
(A) Rajasthan Plain (B) Ganga Plain
(C) Punjab - Haryana Plain (D) Brahmaputra Plain

12. Which city hosted the G20 Summit from 18-19 November, 20247
(A) Johannesburg, South Africa (B) Buenos Aires, Argentina
(C) New Delhi, India (D) Rio de Janerio, Brazil
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13. Which of the following was the broad vision of the last five year plan of the government
of India?
(A) Faster, sustainable and more inclusive growth
(B) Agricultural development led growth
(C) All round balanced development
(D) Garibi Hatao

14. With which of the following was the ‘New Agricultural Strategy’ concerned?

(A) Increase in the yield per acre of certain specific crops
(B) Encouragement of multiple cropping

(C) Use of modern farm practices for specific crops

(D) All of the above

15. Which is the first fully organic state in India?
(A) Punjab (B) Haryana
(C) Sikkim (D) Kerala

16. Which of the following is not true regarding GST compensation?
(A) The compensation scheme was designed to safeguard the states for any
difference in the new versus the old tax regime

(B) The compensation system was envisaged as a buffer to the state’s revenues in
the eventuality of a fall in tax revenues resulting from a collapse in economic
growth

(C) The compensation arrangement was meant to help states ride out the
differences in the inter-state distribution of GST

(D) None of the above

17. What was the main policy under New Economic Policy brought into force since July
19917

(A) Import Substitution Policy

(B) Monopoly Restriction Policy

(C) Stabilisation Policy and Structural Reforms Policy
(D) Foreign Exchange Regulation Act

18. What is the aim of International Financial Services Centre IFSC)?

(A) Facilitate India’s emergence as a preferred jurisdiction for international
financial services

(B) Facilitate agriculture sector financing
(C) Accelerate the growth of banking sector in India
(D) Maintain balance of payment stability
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19. Which of the following statement is/are not correct about the Constituent Assembly of
India?

(1) Idea of an Indian Constituent Assembly firstly proposed by M.N. Roy.

(i1) The Cabinet Mission Plan of 1946 recommended for the creation of the constituent

Assembly.
(i11) Constituent Assembly first convened on 9t December 1946.
@iv) Dr. B.R. Ambedkar was appointed as the President of Constituent Assembly.
(A) Only () is correct and (ii), (ii1) and (iv) are not correct
(B) Only (11), (111) and (iv) are correct and (1) is not correct
(C) Only (1), (11) and (iv) are correct and (iii) is not correct

(D) Only (1), (i1) and (ii1) are correct and (iv) is not correct

20. Who is the chairperson of 16t Finance Commission of India?
(A) Dr. Arvind Panagariya (B) Jagadish Bhagavati
(C) Shaktikanta Das (D) Nanda Kishore Singh

21. Which of the following amendment/amendments of Indian Constitution as

Mini-Constitution?

1) 734 and 74" Amendments

(i) 420

(iii) 44tk

(1v) None of the above
(A)  Only (1) (B) Only (1) and (i1)
(C) Only (iv) (D) Only (1)

22. Which one of the following cases Supreme Court of India ruled on Basic Structure

Doctrine?
(A) Minerva Vs Union of India
(B) Maneka Gandhi vs Union of India on 25 January, 1978
(C) A.K. Gopalan vs The State of Madras

(D) Kesavananda Bharati case
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23. Which Constitution/s India adopted Fundamental Rights and Directive Principles of
State Policy?

(1) American and Irish

(11) American and USSR

(i11) British and USA
(A) American and Irish
(B) British and USA
(C) American and USSR
(D) None of the above

24. Who described the Directive Principles of State Policy as ‘novel feature’ of the Indian

Constitution?
(A) Jawharlal Nehru (B) Sardar Vallabhbhai Patel
(C) Dr. Rajendra Prasad (D) Dr. Ambedkar

25. Which one of the following statements on Citizenship is correct one?

(1) Right to vote in elections to the Lok Sabha and State legislative assembly is
applicable to both Indian Citizen and Aliens

(i1) The Constitution provides right vote in elections to the Lok Sabha and State
Legislative Assembly only to Indian Citizens and denies this right to Aliens

(A) Statement (i) is true
(B) Statement (1) and (i1) is true
(C) Statement (ii) is true

(D) Both statements are not correct

26. A command issued by the Supreme Court or High Court India to produce a person before

the court who illegally detained by the state or any other authority?
(A) Habeas corpus
(B) Mandamus
(C) Certiorari
(D) Quo Warranto (D D Basu P 137)
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27.

28.

29.

30.

31.

32.

An institution to oversee the functioning of Local Self Government Institutions in Kerala
18

(A) Lokayukta (B) Kerala High Court

(C) Ombudsman (D) Lokpal

Which one of the following is/are Government of Kerala undertaking to generate more

employment opportunities in foreign countries for jobs seekers in and out of state?
(1) Overseas Development and Employment Promotion Consultants (ODEPC) Ltd.
(11) NoRKA

(A) Option (i1) only (B) Option (i) only

(C) Option (1) and (i1) only (D) None of the above

Which year Mahathma Gandhi National Rural Employment Guarantee Scheme fully

implemented in Kerala?
(A) 02.02.2006 (B) 01.04.2007
(C) 01.04.2008 (D) None of the above

The online consultation programme of Kerala Women and Child Department for women
commenced in February 2021 aimed at resolving their various issues through counseling

legal aid and police assistance is
(A) Aswasanidhi (B) Bhoomika
(C) Kathorth (D) One Stop Centres

The plan monitoring software developed by Information Kerala Mission for Local Self
Government Department of Govt. of Kerala for the formulation and monitoring of the

annual decentralized plan projects of local governments is
(A) Sulekha (B) Sanchaya
(C) Sugama (D) Samvedhitha

Who is the present Chairman of Kerala State Disaster Management Authority?
(A) Dr.V.VenulIAS (B) Sri. Pinarai Vijayan
(C) Sni. K. Rajan (D) Smt. Tinku Biswal IAS
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33.

34.

35.

36.

37.

The disease caused by deficiency of Vitamin D is :
(A)  Scurvy (B) Rickets

(C) Beriberi (D) Pellagra

The causative organism of Chicken pox is a :
(A) Virus (B) Bacteria

(C) Fungus (D) Protozoa

A scheme under Govt. of Kerala for Organ donation is :
(A) Jeevadayini (B) Sukritham

(C) Bhoomika (D) Mrithasanjeevani

The enzyme which helps in protein digestion in humans :
(A) Sucrase (B) Lipase

(C) Trypsin (D) Maltase

The Nobel prize in Medicine 2024 was awarded to
(A) Katalin Kariko and Drew Weissman
(B) Victor Ambros and Gary Ruvkun
(C) Svante Paabo

(D) David Julius and Ardem Patapoutian
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38. According to Einstein, in the photoelectric effect,

(A) Part of the energy of the incident photon is used to eject the electron from the

metal surface and the remaining energy is converted into heat energy

(B) The entire energy of the incident photon is converted into the kinetic energy

of the ejected electron

(C) Part of the energy of the incident photon is used to eject the electron from the
metal surface and the remaining energy is converted into the potential energy

of the ejected electron

(D) Part of the energy of the incident photon is used to eject the electron from the
metal surface and the remaining energy is converted into the kinetic energy

of the ejected electron

39. In which direction does a body always move?
(A) In the direction of its velocity
(B) Opposite to the direction of its velocity
(C) Perpendicular to the direction of its velocity

(D) Can be in any direction as (A), (B) or (C)

40. The refractive index of the material of a given glass plate :
(A) Depends on the angle of incidence of light used
(B) Depends on the intensity of the light used
(C) Depends on the wavelength of light used

(D) Isa constant

41. The Indian Space Research Organisation (ISRO) successfully launched the EOS-08
Earth Observation Satellite on :

(A) 1 dJanuary 2024 (B) 16 August 2024
(C) 17 February 2024 (D) 22 July 2024
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1 2330 2024 (B) 16 snaF 2024

17 30 2024 (D) 22 &S, 2024
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42. Which of the following shows the correct order of elements in the periodic table based on

Increasing atomic number?
(A) Sodium, Magnesium, Aluminium, Silicon, Phosphorous
(B) Magnesium, Aluminium, Phosphorous, Sodium, Silicon
(C) Sodium, Aluminium, Silicon, Phosphorous, Magnesium

(D) Aluminium, Phosphorous, Silicon, Sodium, Magnesium

43. Graphite is a of carbon.
(A) Isotope
(B) Isobar
(C) Alloy

(D) Allotrope

44. The pressure at which a liquid’s vapour pressure equals atmospheric pressure is called :
(A) Freezing point
(B) Melting point
(C) Boiling point

(D) Condensation point

45. Which recently discovered element source in India is crucial for the future of electric

vehicles?
(A) Uranium
(B) Lithium
(C) Cobalt
(D) Graphite
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42. TASDHS Ioeen Tododh BHTT e BBIc3 BpeFZBOT ©WoBNY IOWeTd FITY,
8 BYNIJYNYO areRI@D SeedDI3?
(A4) Seedado, N edabds, @waécfb&’)odm, DOTIF, m@) orvd
(B)  NedobAY, werAobo, FoRB T, Fpedabo, AT
(C) Reedado, eﬂwaéomé’)ojoo, DOTIF, mé@ O=*, &N edodba®

D) eﬂufaasc."b&’)oi)o, m«d@ O=F, 30z, JeeBabo, e edabay

43. My §,83° @omed e3N3.
)
(A) oJneedeexs
B) oJBeeyT*
(C) DZeieed

D) edeetines’

4. BB 69 23V TIBITOHE w3IBY, FDTNDE wIBIRY, BERWTIHIT
A)  PABODS Dotd
(B) 30rda Dodd
C)  RB0inaE Dowd

(D) @806 Dowd

45. 03B @3edrt SB0deT red BV BT TIBINY BIRE, dmorobhBeeNS?
(A) adwdedado
(B) ©dadbo
(C) Brewees,

D) moFe
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46. How many runs did Virat Kohli score in Test Cricket before retiring?
(A4) 8450 (B) 9230

(C) 9010 (D) 8895

47. What is the name of the new capital city being developed in Indonesia?
(A) Jakarta (B) Bali

(C) Nusantara (D) Surabaya

48. Which Buddhist art form, recently in the news, is made using a fixed grid called “sor,”

where the drawing and coloring must follow set rules without any changes?
(A) Madhubani (B) Thangka
(C) Pattachitra (D) Kalamkari

49. Where are the Gamburtsev Mountains located?
(A) Under the Arctic Ocean
(B) Beneath the Sahara Desert
(C) Under the East Antarctic Ice Sheet

(D) In the Andes Mountains

50. Which hypothesis suggests that poor nutrition during foetal development can lead to
long-term changes in metabolism and organ function, increasing the risk of adult

diseases such as type 2 diabetes and hypertension?
(A) Germ Theory
(B) Barker Hypothesis
(C) Miasma Theory

(D) Central Dogma
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46.

47.

48.

49.

50.

Qoeex dok ITHBoHS STy LT, $BFRO oF) OrF NOITIT?

(A) 8450 (B) 9230
(C) 9010 (D) 8895

QoS B0 ¥NB)ABBBIMHIDHS TRT TR INOT BOTeD?
(A) 2Bozer B) 2w
(C) Dozad (D) A

23t DYEDOWLE i PG Bue FEAOTRY "Feeo™ 0w AT NEF WY FadITIHIT,
09 Jeroedd) D) WHP) WY WBTITHRPVT ANOS &’)od)d)ri%?d& LD IOTIe&?

@) R B) Borm,

© B33, (D) 80080

Mool F BBEBMW S?
(A) 83635 DTNTB I
(B) RTeve DhIedab 3t
(C) IpTe ©oe3d 5 Downdod 3¥rt
(D) 08z IIr3RYD

)63 BYSedrioh SSHohB) BYE Ppexmaiy bodremdah DR wonnY Haodbrdd) degrsedes
QBIIIBAVT FeTtameriwamdd, ;o 2 Dhded DI) 8O3 I3BPBBB0BE ST, FodbeInY
©HSIY, BeJDIBT 20 A LWVE FINIH?

(A) g, Bed dmgo3

(B) w93c0° 30T

(O DT, c%mgoé

(D)  3eor) dwgo3
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51.

52.

53.

54.

55.

A man buys a field of agricultural land for Rs. 4,20,000. He sells one-third at a loss of
20% and two-fifths at a gain of 25%. At what price must he sell the remaining field so as

to make an overall profit of 10% :
(A) 1,40,000 (B) 1,20,000

(C) 1,00,000 (D) 1,50,000

A group has boys and girls in the ratio 8 : 5. If one boy and three girls join in, the ratio

becomes 3 : 2. Find the number of girls originally in the group.
4) 15 B) 28

(C) 42 D) 35

40 persons can repair a bridge in 15 days working 8 hours a day. In how many days will

30 persons working 10 hours a day complete the work?
A 15 (B) 16

(©) 10 D) 12

The width of the path around a square field is 3.5 m and its area is 105 m2. Find the cost

of fencing the field at the rate of Rs. 80 per meter.
(A) 1240 (B) 1200

(C) 1280 (D) 1260

The sum of all odd integers between 10 and 100 divisible by 3 is :
(A) 845 (B) 867
(C) 876 (D) 855
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51.

52.

53.

54.

55.

) déé de. 4,20,000 nert B)A a,;iracfbodmg( 20eDDTIT. BTD FweTIe 20w mrﬁdﬁg(
20% saﬁ& D) 2BJe adddc—;’% mrﬁd@( 25% mejéé 003 ITRDTIN. umdd 10% e3923
NETL BT VLT ﬁfaﬁ)dﬁ& o), St o3 Srereied?

(A)  1,40,000 (B) 1,20,000
(C) 1,00,000 D) 1,50,000

00T ™OAIY 8 : 5 BDTSTY BWRDNRD DB BWDNODD) VWIS 202) WRN DB) JeTW)
BDDAADD FedTY, DbzEy 3 : 2 wrH3F. MHodSYDHT Swewd: WWNLT Toss e
B0RHBA0.

A) 15 ®B) 28
C) 42 D) 35

40 23D OIF, 8 NoInY v BT WS 15 AINYY JeDSabRY, DI BB, BIF,
10 roed BUR e 30 BIDH oD, BINYY BOITY, RpearT PDST?

@A) 15 (B) 16
(©) 10 D) 12

200 B3T B;weRB DIOI ened wnw 3.5 e D) BB Adeer 105 e, F3 et
Gre. 80 BOBY Bpod, 3ed TS S S0DHBNO.

(A) 1240 (B) 1200
(C) 1280 (D) 1260

10 @@) 100 3B SBIT 20 W pEefodny SIB) 3 008 NIV 3T AT

(A) 845 (B) 867
(C) 876 (D) 855
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56.

57.

58.

59.

60.

In a certain code FOUR is written as 24, then how will FIVE be written in the same

code?
(A) 42 B) 32

©) 24 D) 27

Pointing to a girl in the photograph, Sanal said, “Her mother’s brother is the only son of

my mother’s father.” How is the girl’s mother related to Sanal?
(A) Aunt (B) Mother

(C) Sister (D) Grandmother

If Thursday falls on 10%* December 1981, what day of the week will fall on
10tk December 19917

(A) Monday (B) Saturday

(C) Friday (D) Tuesday

A man walks 4 km towards south and then turns to the right. After walking 3 km he
turns to the left and walks 4 km. And then he goes back 9 km straight. Now in which

direction is he from the starting place?
(A) South (B) West

(C) South- East (D) North - West

If the reflection in a mirror of a 12-hours clock shows 2 : 35, what will be the original

time?
(A 10:25 B) 9:25

(C) 10:35 M) 9:35
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56.

57.

58.

59.

60.

200 aasad éfaeacaieg FOUR eﬁaig( 24 01 30LeTING, TMeBT e9rde éfaeacaief)m FIVE eﬂdso(

Bert waberH3E?
(A) 42 B) 32
(C) 24 D) 27

7001033, BODHT WEDNADR, SeedDI, IILF, “830d Sodbadh JITeedT I3 Sedbad Sordod

53,3 Dt 20Th FeVTD. 1A T IR Bert Fowor FeoBTRT?
@) B3, (B) o

(C) TBeedd D) e

D@3 BJowo* 10, 1981 Towd 0B3, =03 reas B BJowo® 10, 1991 Tod WHIF?
A) Reedmed (B) 3Bwed

(C) BZmeT (D) Sordwes

) B3 BT BB 4 8.e. IBD $oBT wed, FHEIR. 3 3.dhe IBE FoBT B OB,
3N 4 3.Qe IBAWBS. IBI03T BB 9 &.ve FedTeN HoZWRHBN. BN BT BTV
Y00 alrea B3,3ODN?

4) BZe B) I

(C) esriead (D) 33 - BB D

12 roedn¥ rfBdyedd 83 BN &30 2 : 35 SpedITT, Swov JIhabh o), ?

(A) 10:25 B) 9:25
(C) 10:35 M) 9:35
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61. He abdicated his throne his eldest son.

Fill in the blank space using a phrase preposition

1 for

(i1) 1in reference to

(i11) 1in favour of

(1v) none of these
4 @@ B @
©) @av) D) ()

62. Locate the meanings of the idioms from the options given below.
(a) at my fingers’ ends
(b) with a high hand
(1) on very intimate terms, undaunted by anything
(11) know it thoroughly, oppressively
(111) used utmost efforts, disorder
(iv) none of the above

A @ B) 1)
© @ D) ()
63. Insert suitable articles.

The two friends agreed to differ discussing the question

about an hour.

(1) at,in

(1) for, after

(111) 1in, at

@iv) after, for
A @ B) aw)
©) () D) @)

64. Identify the correct spelling from below.
(1) acquiesce
(11) acqiuesce
(111) acqiulesce
(iv) acquisce
Aa) @) B )
(C) () ®) @
65. Select the antonym of ‘stubborn’ from the following.
(i) tenacious
(i) biddable
(i11) intransigent
(iv) none of these
A) () B @
©) @ D) ()
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66.

67.

68.

69.

70.

Identify the Synonym of Consanguineous
(1) Contagious disease

(i1)) Unresponsiveness

(111) Of the same blood or origin

(1v) None of these

A) (i) B) @
© @) D) (i)

One word for extreme fear of ghosts and other supernatural beings.
(i) tomophobia

(i1) ophiophobia

(111) phasmophobia

(iv) nyctophobia

A)  (@Gv) B) (id)
(©) (i) D) @

He inquired whether his name was not Ahmed.

Change into direct speech

(1) He said, “Is your name Ahmed?”

(1) He said to him, “Are you Ahmed?”

(1)) He said to him, “Is not your name Ahmed?”
(iv) None of these

4) (@) B) (auw)
©) () D) @
Choose the correct answer.
The guidance, as well as the love of a mother, wanting.
1 was
(11) has
(i11)) were
(1v) none of these
4) (@) B @)
© @ D) (1)

If only I were young again!
Change the above exclamatory sentence into assertive sentence
(1) I want to be young again.
(i1) I wish I were young again.
(i11) I wish I was young again
(iv) none of these
A) (i) B O
(C) (1) D) (@)
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71. The reason for expressing the speed of a computer in the unit of Hertz is that :

(A)

(B)
(©)
D)

The average of both bridge controllers switching speeds per second

determines speed
North Bridge controller switching frequency determines it
South Bridge controllers switching frequency determines it

It’s the number of clock pulses per second generated by the clock generator

72. After a reset signal obtained by the computer , the program counter or the instruction

pointer is loaded with :

(A)
(B)
(©
D)

The starting address of ROM
The initial address of harddisk track 0, sector O
The initial address of harddisk track 0, sector 1

The starting address of L1 cache memory

73. Which statement of the following is correct in the descending order of access time?

(A)
(B)
©)
D)

Registers, RAM, ROM, Harddisk
ROM, RAM, Registers, Harddisk
Harddisk, ROM, RAM, Registers

Harddisk, RAM,ROM, Registers

74. Hexadecimal numbers are used by :

(A)
(B)
(©
D)

Computers to represent memory location addresses
Computers to represent data in memory locations
Computers to represent data and address of memory

By human to easily represent large binary combinations
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75. Unicode systems :
(A) 16 bit code and can represent 65536 characters
(B) support data exchange internationally
(C) Dbe said as the only code used by Java only

(D) represent all characters in word

76. “Let it appear here also as there” , Which function in MS word offers this?
(A) Conditional formatting (B) Highlighter
(C) Format Painter (D) Paste special

77. “Save as” option in the menu
(A) Saves a file always
(B) Get copies of file always
(C) Get a copy of file if different filename is given

(D) Saves the file first time and get a copy of file if different name is given second

time

78. Pressing Ctrl key and right arrow in excel will :
(A) Move the value in current cell to next cell
(B) Cursor is transferred to last column
(C) Increments the value of current cell by one

(D) Just moves the cursor to next empty column in right side

79. Circular reference is occurred in Excel during
(A) Same cell address is referred in the cell’s equation
(B) Value loss due to use of format cells usage
(C) Adjacent columns are referred in an equation

(D) Protected cells are a part of the given equation
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80. In a powerpoint presentation, I would like to control the order of the slides which are
presented one by one. Which feature can be used?

(A) Slideshow (B) Rehearse timings
(C) Custom slideshow (D) Change slide number

81. Data abstraction in C++ is implemented in the language using the keywords :
(A) class, object (B) private, public
(C) abstract , void (D) abstract, protected

82. The value of ¢ after executing the expression, float c =3 + 5/2 + 7/2:
4) 9.0 B) 5.5
() 80 D) 7.0

83. The usage CLR in VB.NET refers to
(A) Clear the screen at once
(B) Common Language Runtime
(C) Clear Language Routines

(D) Console reset for restart

84. Which one of the following is correct usage in VB.NET?
(A) Console.Writeline(“The answer obtained is”, ans)
(B) Console.Writeline(“The answer obtained is %d”, ans)
(C) Console.Writeline(“The answer obtained is {0}”, ans)

(D) Console.WriteLine(“The answer obtained is {0}”, ans)

85. A database designer has created two tables namely product and stock and he wants to
restrict the entries in product codes in product table so that the entry should be allowed
only if that product code exist in stock table. How can it be implemented?

(A) Setting up foreign key

(B) Setting up primary key

(C) Setting up constraints

(D) Using referential integrity feature of foreign key
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86. A new column needs to be created in an existing database table named STUDENT with
field name DOB which is of date type. Identify the correct DDL query.

(A) Alter table STUDENT add constraint DOB date
(B) Alter table STUDENT add DOB date

(C) Alter table STUDENT add column DOB date
(D) Alter STUDENT add column DOB date

87. Having is a keyword used along with
(A) select queries (B) group by clause

(C) for giving conditions (D) all of the above

88. HTTP is the protocol used in
(A) Application Layer (B) Transport layer

(C) Session Layer (D) Network layer

89. How can we create hyperlinks so that the new page opens in a new window?
(A) By using rel attribute and by giving it’s avalue as “external”
(B) By using target attribute and setting its value as _blank
(C) By simply giving HREF without attribute

(D) By using rel attribute and by giving it’s avalue as “next”

90. A textbox in a webpage accepts phone numbers, How can I restrict the entry only to

accept numbers from browser side?
(A) using javascript code
(B) using HTML code
(C) using VB.NET code
(D) all of the above
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92. SNerad SoRINYY Srie BFD D) e 3)3ead BVFONW :
(A) 00 TN
(B) Dodomatariwd
(C) oDJIBRR
(D) Qexergdn

93. 3¥r AeBDHIYINYY oD evPTIHREr BeodBarerdde)?

(A) 6536
(B) om0
(C) o3

(D) Rexa

94. oI, AR, VY, JV) - A0 BTNW.
(A) BOTeeedBRR
(B) dmERw
(C) Babemeddniwy
(D) ﬁo&)‘aémaésmb

95. D - VBT RTINS TPT WII)T?
A) 3R (B) 2w
(C) Drnwd D) @B

-32-



119/2025-K

96. 0BT Bey BUrt AR - VO ‘TODT’ WS AISAOT?
D) e (B
C) 3y3ead D)
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Space for Rough Work

-34-



119/2025-K

Space for Rough Work
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